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ചോദ്യ
നമ്പർ

സൂചിക സ്കോർ

1  a) 0−6
x−2

=
3
2

   ==>  (−2,0)

  b) y−6
0−2

=
3
2

   ==>  (0,3)   
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1
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2 a )   (2+5−6 , 6+4−7)= (1,3)

b )  (2+6−5 , 6+7−4 )= (3,9)

1

1 2

3 a )   tan 450= 1  

b ) m−0
3−0

=1 ==> m= 3

c ) 7−0
n−0

=1 ==> n = 7

1

1

1

3

4 a )  (
1+9
2
,
4+8
2

) = (5,6)

b )  (
1+3
2
,
8+2
2

) = (2,5)

c )  √(5−2)2+(6−5)2=√10
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1

1
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5 a )  AB=√(5−2)2+(0−3)2=√18

c )  BC=√(7−5)2+(8−0)2=√68

      AC=√(7−2)2+(8−3)2=√50
 
       AB2+AC2=68=BC2

c ) BCയുടെ മധ്യബിന്ദു = (
5+7
2
,
0+8
2

)=(6,4)
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6 a )  1−0
6−2

=
1
4

b)  5−4
5−1

=
1
4

c )  4−0
1−2

=−4

d )  1
4

× (
5−1
5−6

)=−1

e )  (
5−0
5−2

) × (
4−1
1−6

)=−1
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